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S-BLOCK ELEMENTS

1. The reaction which does not liberate hydrogen gas is [M-2012]
1) Al +NaOH (Conc)—
2) C + NaOH(molten)—
3) F>+ NaOH (Conc)—

4) Zn +NaOH(agq)—

2. which metal ions play an important role in muscle contraction? [M 2011]
1) K* 2) Na" 3) Mg 4) Ca'
3. which of the following compound has the lowest melting point? [AIPMT 2011]
1) CaCl, 2) CaBr, 3) Cal; 4) CaF;
4.  which of the following statement is incorrect? [AIPMT 2011]

1) pure sodium metal dissolvesin liquid ammoniato give blue solution.
2) Aluminium reacts with excess of NaOH to give Al(OH)3
3) NaOH reacts with glass to give sodium silicate.
4) NaHCOj; on heating gives Na,COs
5. The alkali halide that is soluble in Pyridine is [PMT 2011]
1) NaCl 2) Licl 3) KCl 4) Csl
6. propertity of alkaline earth metals that increases with their atomic number
[AIPMT2010]
1) solubility of their hydroxidesin water
2) solubility of their sulphates in water
3) ionization energy
4) electro negativity
7. which of the following alkaline earth metal sulphate has hydration enthalpy higher than lattice
enthalpy?
[AIPMT2010]

1) CaSO, 2) BeSO, 3) BaSO, 4) SrSO,
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8. The best water soluble hydroxide is [PN2008]
1) Ca(OH): 2) Mg(OH): 3) Ba(OH) 4) Sr(OH)2
9. sodium hydride when dissolved in water produes [DPMT 2008]
1) acidic solution  2) basic solution  3) neutral solution 4) cannot be predicted
10. which of the following has highest hydration eergy? [AFMC 2009]
1) BaCl, 2) SrCl, 3) MgCl, 4) CaCl,
11. Glauber saltis [AFMC 2007]
1) CuS0O4.5 H20 2) MgS0y4,7H20 3) NaS04.10H20 4) FeS04.7 HoO
12.The molecular formula of Salt petre is [PMT2007]
1) KNOs 2) NaNO3 3) NaCl 4) NaySOq4
13. which compound is highly covalent? [AFNBDO7]
1) LiF 2)LiCl 3) LiBr 4)Lil
14. Among alkali metals Caesium is the most reawi because [AFMC2008]

1) itsincomplete shell is nearest to the nucleus
2) it has a single electron in the valence shell
3) itisthe heaviest alkali metal
4) The outer most electron is most loosely bound that the outer most el ectron of the other
akali metals

15. Sodium is heated in air at 300°C to form XX absorbs CG, and forms NapCOg and

Y. Which of the following is_Y? (M 2005)
1) Ho 2) Oy 3) HoOo 4) O3

16. Which of the following carbonates decomposesadily at low temperatures?

(2007 M)
1) NapCOg 2) KoCO3 3) Lip COg 4) RbyCO3
17. Which of the following pair cannot exist togetkr in solution ? (E 2007)
1) NaHCO3+ NaOH 2) NapCO3 + NaOH  3) NapCOz+NaCl 4) NaHCOg3 + NaCl
18. Which of the following is not correct ? (2007 M)

1) In Nelson method of NaOH preparation, Cl» isliberated at anode.
2) With hot and concentrated NaOH, Cl» gas gives NaOCl.

3) NaOH reacts with white phosphorus giving phosphine.
4) NaOH is used in rayon industry.
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19. Which of the following statements are correctdr alkali metal compounds ? (E-2008)
i) Superoxides are paramagnetic in nature.
ii) The basic strengths of hydroxides increases down the group.
iii) The conductivity of chloridesin their agueous solutions decreases down the group.
iv) The basic nature of carbonates in aqueous solutionsis due to cationic hydrolysis.

1) (i), (ii) and (iii) only 2) (i) and (ii) only
3) (ii), (iii) and (iv) only 4) (iii) and (iv) only
20. The correct order of stability for the following superoxides is (M 2008)

1) KO2>Rb0O2>CsO5 2) RbO2>CsO5>K 05 3) CsO2>RbO5>K 05 4) KO5>CsO»>RbOo

21. Which of the following reactions does not libeate gaseous product ? (M-2006)
1) AICl3 + NaOH—

2) NaOH +P (white) +H,O—

3) Al+NaOH—
4) Zn + NaOH—

22. Consider the following reactions : (M-2006)
l.  Al+NaOH+H20 —

Il. Fo+ NaOH(conc.)»
[ll. NaOH + P (white) + HoO —
The correct set of reactions which give gaseousqauct is :

DI, 1 and il 2) Only land 1
3) Only I and 111 4) Only Il and 111
23. In the hardening stage of plaster of paris, theompound formed is (M-2004)
1) CaSQ 2) Orthorhombic CaSQ;.2H20
3) CasSQ.H20 4) Monoclinic CaSQ.2H»0
24. Epsom salt is (AFMC2006)
1) MgSQ, . 7THoO  2) CaS .H20O 3) MgSQ. 2H»>04) BaS( .2H»0
25. Match the following (M-2010)
List - 1 List - 1l
A) Dolomite [) CaCO3
B) Fluorapatite II) 2BeO. SiOy
C) Phenacite ) SrIS¢
D) Celestite IV) CaCQ. MgCO3
V) 3GtP0O4)2.Calp
The correct answer is
AB C D A B C D
1) Ivv 1l Il 2V v Il 1]
3) IVV | Il 4v VvV I 1
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26. Solvay process is used in the manufacture of (E-2010)
1) KCO3 2) KHCO3 3) NaCO3 4) CaGl
27. What are the products formed when LyCO3 undergoes decomposition? (E-2002)
1) LioOo+CO 2) LioO +CO 3) LipO+ CO9 4) LiO»+CO

28.NaNGQ; on heating gives
[JIPMER2006]
1) O, 2) NO; 3) O, +NO; 4)none of these
29. Magnlium contains

[AFMC2006]
1) Mg+Al 2)Mg+Mn 3) MgtFe 4) Mg+Cu
30. Backing powder is
[AFMC2005]
1)NaHC03 2)N82CO3 3)NaHC03 .6H,0 4)N82C03. 10H,0
KEY
1)3 2)4 3)3 4) 2 5)2 6)1 7)2 8)3 9)2
11)3 12)2 13)4 14)4 15)2 16)3 171 18)2 19) 2
21)1 22)1 23)4 24)1 25)4 26)3 27)3 28)1 29) 1

www.sakshieducation.com

10)3

20)3

30)1



